P17000011239

(Requestor's Name)				
(Address)				
(Address)				
(City/State/Zip/Phone #)				
PICK-UP WAIT MAIL				
(Business Entity Name)				
(Document Number)				
Certified Copies Certificates of Status				
Special Instructions to Filing Officer: Customer wonted all extra Pages to be scamed into Record				

Office Use Only



800295105448

17 FEB -3 PM 2: 35
SEURCHARY OF STATE
TALL AHASSEE, FLORIDA

800295105448 02/03/17--01003--010 **87.50

17 FEB -3 PM 2: 14

COVER LETTER

Department of State New Filing Section Division of Corporations P. O. Box 6327 Tallahassee, FL 32314

SUBJECT: Rí	ghteous Mir	7 / 5 Pro	SPER INC.				
Enclosed are an original and one (1) copy of the articles of incorporation and a check for:							
\$70.00 Filing Fee	☐ \$78.75 Filing Fee & Certificate of Status	S78.75 Filing Fee & Certified Copy ADDITIONAL CO	\$87.50 Filing Fee, Certified Copy & Certificate of Status PPY REQUIRED				
FROM: Jarmaine Lawrence Henderson Name (Printed or typed)							
2416 Jackson Bluff Rd Apt 5A Address							
Talluhussee FL 32304 City, State & Zip							
Daytime Telephone number							
E-mail address: (to be used for future annual report notification)							

NOTE: Please provide the original and one copy of the articles.

ARTICLES OF INCORPORATION
In compliance with Chapter 607 and/or Chapter 621, F.S. (Profit)

The name of the corporation shall be: Right eous M	inds t	Prosper	Inc	
ARTICLE II PRINCIPAL OFFICE Principal street address	Ma	iling address, if d	ifferent is:	
2416 Jackson Bluff Rd	2416	Jackson	 'n	
Apt 5A Tallahassee FL 32304				
ARTICLE III PURPOSE The purpose for which the corporation is organized is:	2 AHA	ached		
		,	17 F	
	<u></u>		AFF EB	
	·		3 PM	
			2: OR 2:	
			₽ 33	
2416 Jackson Bluff, Apt 5A Talluhasser F	[RJ			
Name and Title: Lindy FAY Provitt Na	ime and Title:	VP		
Address 2832 swavn Brook c + Ad	ldress:			
Tallahassee FL 32308	_			
Name and Title: Lakeshia Ozeda Brookna	me and Title:	D		
Address Ad	ldress:			
2932 swayn Brook ca Tulluhassee FL 323	_			
_ lulluhassee FL 323				

Name and Title:	Name and Title:
Address	Address:
ARTICLE VI REGISTERED AGENT The name and Florida street address (P.O. Box NOT acceptable) of the name and Florida street address acceptable of the name acceptable of the name and Florida street address acceptable of the name acceptable of th	of the registered agent is:
Name: Jernaine Lawrence	Hendeson
Address: 2832 Swaun brook	
Tallahassee, FL 32.	<u>-</u>
ARTICLE VII INCORPORATOR	
The name and address of the Incorporator is:	
Name: Jermaine L Heno	kison.
Name: Jermaine L Heno 2416 Jackson Blu Apartment SA 32	tt Rd
April ment SA 32	_ Z3nU
1791 11011 34 3	
ARTICLE VIII EFFECTIVE DATE:	
Effective date, if other than the date of filing: (If an effective date is listed, the date must be specific and cann	(OPTIONAL) not be more than five business days prior or 90 business
days after the filing.)	
Note: If the date inserted in this block does not meet the applicable	
the document's effective date on the Department of State's records	•
Having been named as registered agent to accept service of proce	
this certificate, I am familiar with and accept the appointment as r	, T
- Jelrmane & Hender Required Signature/Registered Agent	$\frac{\partial \mathcal{L}}{\partial x} = \frac{\partial \mathcal{L}}{\partial x} = \partial $
I submit this document and affirm that the facts stated herein ar	
document to the Department of State constitutes a third degree felo	ony as provided for in s.817.155, F.S.
Normaine & Henderson	02-03-2017
Required Signature/Incorporator	Date

Righteous Minds Prosper Inc.

Corporation Duties

- A.) Filming industry
- B.) Sports Agency industry
- C.)Music Industry
- D.) Magazine Label
- E.) Clothing Line Label
- F.) Online Products Sale
- G.) Community and World Outreach + Charity
- H.) A Union for the Righteous power in the world
- I.) An unlimited Brand

Righteous Minds Prosper Inc., - Is establish by God, allowing

Ceo Jermaine Lawrence Henderson 2015, to come up with a Brilliant

Vision and idea) Which will make

Capital, spiritual, righteous power, and growth worldwide. Creativity, labor, faith and the right work ethic, to establish one of the top Corporation in the world.

- A.) Filming Industry A Professional Filming industry producing, creating films, with a righteous purpose. Professionally promoting, marketing and distributing films, showcasing Righteous Minds Prosper talent, films with a righteous purpose, well as marketing for profit. Example such as film corporation Warner Brothers.
- B.) Sports Agency An agency that makes money off sports representation.

 Creating an Agency, representing athletes in the sports world. Clients, such as football player, basketball players, baseball players, talent athletes and professional owned sports corporations. Job duties, Getting Clients

 Professional Contracts in the sports field, gaining percentages off contact and sponsors.
- C.) Music Industry Produce Meaningful Music with a righteous purpose,
 aiming to empower the earth, which will contribute to making the world a
 better place. Discovering talent Music Artist, representing the company.

 Professionally marketing, working together as a team building, Righteous Mind
 Prosper, establishing a place in the music industry.

D.) Magazine Label — All Purpose magazine, tittle Golden Mind Empire. Starting off locally, after establishment, expand magazine throughout the United States of America. The magazine will educate, explain politics, Promote local public services, update people with local and worldwide news, list reliable resourceful information. Inspirational magazine well as useful to the cities, citizens, United States of America, and public.

- E.) <u>Clothing Line Label</u> Righteous Mind Prosper will fashion and market a clothing line for all ages. It is a process that will take place, to build a clothing line by investing, money, labor creativity, and time, to gain capital growth empowering our company. Clothing Line label Righteous Minds Prosper.
- F.) Online Product Sale- Online Product sale is just another entity to help promote, bring in more revenue, for the company marketing and distributing products online for reasonable prices.
- G.) Community and World outreach + charity- Partnering with The Project

 Bridge 501 © and local nonprofit organizations, reaching out to the

community using action to prevent, decrease human destruction. Doing fund raisers, to fund projects, donate funds to meaningful organization in the United States of America.

- H.) <u>Union for Righteous power in the world-</u> People agreeing to come together, under a union, with a purpose of reaching out to contribute to making the world a better place Honoring God all mighty.
- 1.) <u>Unlimited Brand-</u> Righteous Mind Prosper brand with no limit, using money to invest in owning products, such as notebook papers, pens, lighters, water bottles and more.

<u>Righteous Minds Prosper start up expense \$\$\$</u>

- 1.) Company, registration business + trade mark- \$ 200.00
- 2.) Company, office space, 6 month rent lease plan \$300/6= \$ 1,800 .00
- 3.) Company, marketing + advertisement, 4 months plan -\$200/4=\$800.00
- 4.) Company, Vehicle lease agreement, 6 months -\$350/6=\$2,100.00
- 5. Company, Vehicle Insurance 6 months \$200.00/6=\$1,200.00

6.) Company, clothing gear, website design+ logo design 600.00

Company Tools and Equipment

- 7.) Canon Camera +kit- \$599.00
- 8.) Spartan 7 target Dvd/Cd Duplicator- \$409.99
- 9.) At 2035 Condensor Microphone-\$149.00
- 10.) Lenovo Laptop- \$199.00
- 11).Canon Camcorder +kit \$279.96 /3= \$839.88
- 12.) HP desktop 349.99/2=\$699.98
- 13.) Sony- Mini Microphone~ 22.99/3=\$68.97
- 14.) Company employment workers assistants, 5 months- 3,000.00 Grand Total expense= \$12,665.00

Summary of how Righteous Minds Proper Inc. will make money.

After being raise by my parents, Pastor Linda and Rev. Robert Provitt both, firm believers in God and his word the holy bible, also two successful entrepreneurs. With the grace of God, I was able to venture out as an entrepreneur. After becoming a student of entrepreneurship, studying others success, failures, well as mines. Finally, God, gave me a clear vision, how to reach my heart desire. Righteous Minds Prosper Inc., When People have a business with Righteous

purpose, plus doing everything right, people will support that business abundantly. Also anything righteous, so will, God, that's how My Company will make money, doing the right type of work and the right amount of work which is unlimited. Thank you and God bless!